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1. A recent effort to expand the scope of production resource planning by involving other
functional areas in the planning process has been:
A) material requirements planning
B) capacity requirements planning
C) manufacturing resources planning
D) Just-In-Time planning
E) multifunctional relationships planning

2. Aggregate planners attempt to balance:
A) demand and inventories
B) demand and costs
C) capacity and demand
D) capacity and costs
E) capacity and inventories

3, The management of supply chain inventories focuses on:

A) internal inventories

B) external inventories

C) both internal and external inventories
D) safety stock elimination

E) optimizing reorder points

4. If average demand for an inventory item is 200 units per day, lead time is three days, and
safety stock is 100 units, the reorder point is:
A) 100 units
B) 200 units
C) 300 units
D) 600 units
E) 700 units

5. Examination of the sources of supply for purchased parts or materials in order to improve
performance is called:
A) disintegration
B) value analysis
C) negotiated purchasing
D) reverse engineering
E) vendor analysis

6. A quality improvement technique that involves the sharing of thoughts and ideas in a way
that encourages unrestrained collective thinking is:
A) brainstorming
B) benchmarking
C) Pareto analysis
D) acontrol chart
E) acheck sheet

7. Facilities, personnel and operations that are located around the world is called:
A) globalization
B) diversified operations
C) non-domestic
D) worldwide presence
E) virtual organization

8. The process of assigning tasks to workstations in such a way that the workstations have
approximately equal time requirements is called:

A) fair employment practices
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B} idle time analysis

C) line balancing

D) cycle time optimization
E) none of the above

9. When the output is less than the optimal rate of output, the unit cost will be:
A) lower
B) the same
C) higher
D) could be either higher or lower
E) could be either higher, lower or the same

10. Utilization is defined as the ratio of:
A) design capacity to effective capacity
B} actual output to effective capacity
C) actual output to design capacity
D) effective capacity to actual output
E) design capacity to actual output

11. One of these is not a characteristic of a well-designed service system:
A) User friendly
B) Robust
C) Cost effective
D) Distributed computer networks
E) Easy to sustain

12. The process of dismantling and inspecting a competitor's new or revised product for the
purpose of gleaning design ideas is called:
A) design by imitation
B) product analysis
C) benchmarking
D) reverse engineering
E) disassembly

13. Which technique is useful in computing seasonal relatives?
A) double smoothing
B) Delphi
C) Mean Squared Error (MSE)
D) centered moving average.

E) exponential smoothing

14. Detecting non-randomness in errors can be done using:
Ay MSEs
B) Control Charts
C) MAPs
D) Correlation Coefficients
E) Strategies

15. Scheduling personnel is an example of an operations management:
A)mission implementation
B) operational decision
C) organizational strategy
D) functional strategy

E) tactical decision
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A 17 15
B 10 25
C 5 20
D 7 32
E 11 38
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